
SMALL | MEDIUM | LARGE CLASSIC UNIT
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X1

X4

X8

SMALL RECTANGLE TOPS  L29.5" W29.5" | L75cm W75cm 

MEDIUM RECTANGLE TOPS  L47" W29.5" | L120cm W75cm 

LARGE RECTANGLE TOPS  L71" W29.5" | L180cm W75cmSCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 

12" | 30cm SEGMENTS

ADJUSTABLE LEG

OR

OR

X4

X4

X3



3

2



CATALOG# AI010www.mogogo-buffet.com

4

5

YOUR ALL DONE, WAY TO GO!



CLASSIC RANGE LARGE | MEDIUM SHELF
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

X2

1

12" | 30cm SEGMENTS

5.7" | 14cm SEGMENTS

OROR

X1

X2

X2

X1

SCREW CAPS 

ALLEN KEY FOR M16 

 M16 ALLEN SCREWS

MEDIUM SHELF  L47" W9.5" | L120cm W24cm 

LARGE SHELF  L71" W9.5" | L180cm W24cm 



2

3



CATALOG# AI060www.mogogo-buffet.com

4

JOB WELL DONE, WAY TO GO!



CLASSIC CORNER UNIT
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1 2

X1

X4

X6

CORNER UNIT PANEL L29.5" W29.5" | L75cm W75cm 

CORNER UNIT BOTTOM PANEL  L29.5" W29.5" | L75cm W75cm SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 

12" | 30cm SEGMENTS

ADJUSTABLE LEGS

X4

X4

X2

X1



4

5

3



CATALOG# AI067www.mogogo-buffet.com

6

7

YOUR ALL DONE, WAY TO GO!

Use multiple Corner Units to create 

undless configuration shapes.



CURVED CREATIVE UNIT
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X1

LARGE ROUND TOPS  L81.5" W41" | L207cm W104cmSCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 

12" | 30cm SEGMENTS

ADJUSTABLE LEG

X3

X5

X10

X5

X5

Pay attention! 

The plate is double sided. Some configurations (like the full circle) may need the 

unit to be assembled mirrored.

Choose the unit direction, based on the 

configuration you wish to assemble.



3

2



CATALOG# AI011www.mogogo-buffet.com

4

Can be assembled in several configurations

6

5

GREAT JOB, YOUR GOOD TO GO!



CREATIVE EXTENSION UNIT
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X1

X4

X8

47" EXTENSION TOPS  L47" W21" | L120cm W54cm SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 

12" | 30cm SEGMENTS

ADJUSTABLE LEG

X4

X4

X3



3

2



CATALOG# AI012www.mogogo-buffet.com

4

5

Joined with curved creative units,
the extension unit can be assembled in countless configurations

JOB WELL DONE, WAY TO GO!



QUICK COVER FOR CLASSIC UNITS
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X2

QUICK COVERS FOR SMALL CLASSIC UNIT  L66" W11" | L167cm W29cm

QUICK COVERS FOR MEDIUM CLASSIC UNIT  L83.5" W11" | L212cm W29cm

OR

OR

QUICK COVERS FOR LARGE CLASSIC UNIT  L110" W11" | L280cm W29cm



2

3 Evenly tighten the quick-cover using the bars on both sides.



CATALOG# AI015www.mogogo-buffet.com

DESIGN PROPOSALS

GREAT JOB, YOUR GOOD TO GO!



QUICK COVER 
FOR CREATIVE CURVED UNIT

ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X2

QUICK COVERS FOR CREATIVE CURVED UNIT  L112" W11" | L284cm W29cm



2

3 Evenly tighten the quick-cover using the bars on both sides.



CATALOG# AI029www.mogogo-buffet.com

DESIGN PROPOSALS

YOUR ALL DONE, WAY TO GO!



SIGN POST
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X1 X1

X1

X1

X1

X2

SIGN POST VERTICAL POLE  L59′′ |  L150cm
SIGN POST BOARDMETAL HOOKS

SIGN POST HORIZONTAL POLE

ADAPTOR

Choose a desirable location for the signpost, 

unscrew the Allen screw and attach the adaptor instead.

ALLEN KEY FOR M16 



3

2



CATALOG# AI013www.mogogo-buffet.com

4

5

YOU DID IT, WAY TO GO!



ARCH
ASSEMBLY INSTRUCTIONS



PARTS

X2

X2

X1

VERTICAL POLES FOR ARCHADAPTORS

HOOKS

HORIZONTAL POLE FOR ARCH

ARCH AND HOOKS ARE FOR PRACTICAL AND DECORATION PURPOSES -
A VARIETY OF DÉCOR AND KITCHENWARE CAN BE HANGED. 

X5

X1

ALLEN KEY FOR M16 



2

1

ASSEMBLY



CATALOG# AI014www.mogogo-buffet.com

33

4

5

MISSION ACCOMPLISHED, WAY TO GO!



RAYMOND PRODUCTS PRO CART LARGE
ASSEMBLY INSTRUCTIONS

PAY ATTENTION! 
CREATIVE ROUND TOPS SHOULD BE LOADED WITH THEIR ROUND SIDE FACING DOWN (AS SHOWN HERE).
THE CART CAN HOLD UP TO 12XLR001 (LARGE ROUND TOP) OR UP TO 15XLP001 (LARGE 6’ TOP) 
OVERLOADING THE CARTS MAY CAUSE FAILURE OF THE CART!



PARTS

ASSEMBLY

1 Insert caps into the vertical frame ends.

X2

X4

LARGE CAPS

SMALL CAPS

SCREW NUTS

X12

X12

ROUND CAP SCREWS

BOTTOM  RACK

BOTTOM HORIZONTAL FRAME

TOP HORIZONTAL FRAME

VERTICAL FRAME

VERTICAL FRAME WITH HANDLE

X1

X1

X1

X2 X2

CASTERS  CASTERS WITH BRAKES  

X1

X1



3

2
All screws must be mounted from the inside out.

Be sure not to over tighten!

4 Attach bottom horizontal frame (without leg dividers). 



CATALOG# AI021www.mogogo-buffet.com

5

7

6

Attach top horizontal frame

with leg dividers. 

Insert two casters with brakes

in the vertical frame with handle.

Insert two casters  

in the remaining vertical frame.

YOUR ALL DONE, WAY TO GO!



CURVED INNER / OUTER SHELF
ASSEMBLY INSTRUCTIONS



PARTS

5.7" | 14cm SEGMENTS

X1

OR

CURVED INNER SHELF 
L53" W26.5" | L135cm W68cm

CURVED OUTER SHELF
L76" W27.5" | L193cm W70cm

Several options available with one or more outer shelves

Several options available with one or more inner shelves 

X1

X2

SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 

X2

X2



ASSEMBLY

2

Choose the requested placement of your shelf and follow 
the instructions accordingly:                   

1



CATALOG# AI022www.mogogo-buffet.com

3

4

JOB WELL DONE, WAY TO GO!



BAR SHELF
ASSEMBLY INSTRUCTIONS



PARTS

X2

12" | 30cm SEGMENTS

5.7" | 14cm SEGMENTS

OR

OR

X1

X2

X2

X1

SCREW CAPS 

ALLEN KEY FOR M16 

 M16 ALLEN SCREWS

LARGE BAR SHELF  L71" W14.5" | L180cm W37cm 



ASSEMBLY

2

1



CATALOG# AI023www.mogogo-buffet.com

3

4

YOU DID IT, WAY TO GO!



BREATH GUARD
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1 Use round cap M6 Allen screws.
Do not over tighten the screws.

X2X1

X1

X1

47" BREATH GUARD

71" BREATH GUARD
ROUND CAP M16
ALLEN SCREWS

ROUND CAP M6
ALLEN SCREWS

ALLEN KEY FOR M16 

OR

X4

X2

12" | 30cm SEGMENTS

5.7" | 14cm SEGMENTS
*FOR HIGH BREATH GUARD

CONNECTORS

X2

X2

ALLEN KEY FOR M6 



3

2



CATALOG# AI024www.mogogo-buffet.com

5

34

6

Use the round cap M16 Allen 
screws supplied, to attach the 
connectors to the segments.

For high breath guard
add 5.7" segments. 

Clean breath guards with warm water and mild soap and rinse thoroughly with water. Dry with soft cloth to prevent 
water spots.  You can also clean and polish with cleaners made specifically for acrylic,  like Novus #1 or Brillianize.

Dry with a soft sponge to prevent water spots.

ATTENTION!

× 
×  
× 
×  

Never use abrasive or highly alkaline cleansers.
Never scrape with razor blades or other sharp instruments. 
Never use benzene, acetone, or carbon tetrachloride. 
Never use cleaners such as Windex or 409.

GREAT JOB, YOUR GOOD TO GO!



CASTERS
ASSEMBLY INSTRUCTIONS

FITS LARGE, MEDIUM AND SMALL UNITS 
CLASSIC, STANDARD AND CREATIVE RANGES 



CATALOG# AI026www.mogogo-buffet.com

PARTS

ASSEMBLY

1

X2 X2

CASTERS CASTERS WITH BRAKES  

Flip over and continue building according to the requested station’s 

instruction manual.

X3 X2

CASTERS CASTERS WITH BRAKES  

 CLASSIC AND STANDARD RANGE  CREATIVE RANGE

Maximum load capacity on Large Classic unit with casters: 
Static: 220lb | 100Kg Moving: 175lb | 80kg
When transporting, recommended to empty unit.
Do not use casters on back bars and multiply
shelving units without a consultant. 

PLEASE NOTICE:

2

YOU DID IT, WAY TO GO!



SMALL | MEDIUM | LARGE  
STANDARD UNIT
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

X1

X4

X4

1

SCREW CAPS 

SMALL SQUARE TOPS  L29.5" W29.5" | L75cm W75cm

MEDIUM RECTANGLE TOPS  L47" W29.5" | L120cm W75cm

LARGE RECTANGLE TOPS  L71" W29.5" | L180cm W75cm

ALLEN KEY FOR M16 

OR

OR

X2

X4

X4

 M16 ALLEN SCREWS

ADJUSTABLE LEGS

STANDARD SEGMENTS



2

3

MISSION ACCOMPLISHED, WAY TO GO!



MARKET SQUARE
ASSEMBLY INSTRUCTIONS

×2



PARTS

X4

LARGE CLASSIC UNIT 
L71" W29.5" | L180cm W75cm

X1

ALLEN KEY FOR M16 

X4

SIGN POST

MARKET PANEL L71" W29.5" | L180cm W75cm 

X1

X1

ASSEMBLY

2

12" | 30cm SEGMENTS

Build 4 Large Classic Units.
See ”Small | Medium | Large Classic Unit” assembly instructions.1



4

5

3

Build a Sign Post.
See ”Sign Post” assembly instructions.



CATALOG# AI031www.mogogo-buffet.com

6

YOU DID IT, WAY TO GO!



DOUBLE BAR STATION
ASSEMBLY INSTRUCTIONS

×2



PARTS

X4

LARGE CLASSIC UNIT 
L71" W29.5" | L180cm W75cm

LARGE BAR SHELF  L71" W14.5" | L180cm W37cm 

LARGE SHELF  L71" W9.5" | L180cm W24cm 

X2

X6

ASSEMBLY

2 Join 2 large units.

Build 4 Large Classic Units.
See ”Small | Medium | Large Classic Unit” assembly instructions.1

X1

ALLEN KEY FOR M16 

X16

12" | 30cm SEGMENTS



4

5

3 Join together 2 more large units in front of the previous units.



CATALOG# AI032www.mogogo-buffet.com

6

YOU DID IT, WAY TO GO!



PRO BAR STATION
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

X1

X1

X1

X4

X4

X2

X2

PRO-BAR TOP  L71" W29.5" | L180cm W75cm

LARGE BAR SHELF  L71" W14.5" | L180cm W37cm 

SCREW CAPS 

ALLEN KEY FOR M16 

12" | 30cm SEGMENTS

CASTERS  

CASTERS WITH BRAKES  ICE BIN

SPEED-RAIL

X1

X2

X1

1

X10

 M16 ALLEN SCREWS

LARGE RECTANGLE TOPS  L71" W29.5" | L180cm W75cm 



3

2



CATALOG# AI035www.mogogo-buffet.com

4

5 Speed-Rails can be placed in one or more of three assigned spots 

(a,b,c), simply by unscrewing the plugs beneath the panel.

* Extra Speed-Rails can be bought separately.

* Optional Quick-Covers are recommended.

b

c

a

YOU DID IT, WAY TO GO!



SALAD BAR
ASSEMBLY INSTRUCTIONS



PARTS

X1 X1

X1

X4

X4

LARGE RECTANGLE TOPS  L71" W29.5" | L180cm W75cm 

SALAD - BAR TOP  L71" W29.5" | L180cm W75cm 

SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 

X2

ASSEMBLY

1

X4

X8

12" | 30cm SEGMENTS

ADJUSTABLE LEGSICE COOLER



3

2



CATALOG# AI036www.mogogo-buffet.com

4

5 * Optional Quick-Covers are recommended.

MISSION ACCOMPLISHED, WAY TO GO!



CANOPY
ASSEMBLY INSTRUCTIONS

×2



PARTS

X2X2X2

X2X2

X1

X1

ROUND CAP M16 
ALLEN SCREWS

 M6 ALLEN SCREWS

ALLEN KEY FOR M16 

X2

ALLEN KEY FOR M6 

 CORDURA COVER

CONNECTORS

SUPPORT ARCHES

FRAME CORNERS

X1

ADAPTORS 

X10

X4

X2

VERTICAL POLES  L59" | L149cmALUMINIUM PROFILES  L71" | L180cm

ALUMINIUM PROFILES  L34" | L85cm

ASSEMBLY

1

2

Assemble the frame by clicking the 4 plastic frame corners.

Attach the support arches to the frame on the side with the single hole.



5

Screw on the angled connectors 

to the poles, as shown here 

facing the opposite side of the 

holes in the pipe.

Attach the poles to the frame and to the bamboo support arches.

Attach the adaptors to your large unit table.

ca

b

3

4

d



CATALOG# AI037www.mogogo-buffet.com

8

7 Spread the fabric over the frame, starting with the side 

with the long stitches, on the highest corners of the frame.

Flip the canopy base onto the connectors. With the help 

of an additional person, each person should hold one side.6

GREAT JOB, YOUR GOOD TO GO!



MID-HOLE DISPLAY TABLETOP
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X1 X1

X5

X5

X1

MID-HOLE DISPLAY TABLETOP  L71" W29.5" | L180cm W75cm SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 

12" | 30cm SUPPORT SEGMENT

* For base of the unit see assembly instructions for

 Small | Medium | Large Classic unit (steps 1-3)

*



3

2



CATALOG# AI038www.mogogo-buffet.com

4

OR build up using display shelves

YOUR ALL DONE, WAY TO GO!



LEG COVERS
ASSEMBLY INSTRUCTIONS

FITS 4" CASTERS AND 5.7" / 12" LEG SEGMENTS



PARTS

ASSEMBLY

CATALOG# AI039www.mogogo-buffet.com

X1

1 Place zipper on the bottom
Wrap cover around leg segment.

2 Close zipper.       

Clean with a damp cloth

OR

12" | 30cm LEG COVERS5.7" | 14.5cm LEG COVERS4" | 10cm LEG COVERS

3 Zip up and turn cover to the desired 
placement.*

* AGAINST WALL - PLACE ZIPPERS FACING 
THE WALL. 
CENTER OF THE ROOM - PLACE ZIPPERS 
FACING  INWARDS TOWARD THE PRODUCT.

OR

YOUR ALL DONE, WAY TO GO!



PRO COOKING INDUCTION
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X1 X1

X4

X4

X2

X2

X8

COOKING DROP-IN TOP  L71" W29.5" | L180cm W75cm 

LARGE RECTANGLE TOPS  L71" W29.5" | L180cm W75cm 

COOKING INDUCTIONSSCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 12" | 30cm SEGMENTS

CASTERS  

CASTERS WITH BRAKES  

X2

INDUCTION RINGS

X2

X2



3

2



CATALOG# AI043www.mogogo-buffet.com

Add screw caps & optional quick covers.

4

5

JOB WELL DONE, WAY TO GO!



DISPLAY SHELVES
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1 Choose the requested placement for your Display Shelf 
and follow the instructions accordingly.

X1X1

X1

X1

12" | 30cm SEGMENT

5.7" | 14cm SEGMENT

SCREW CAP 

ALLEN KEY FOR M16 

OR

LARGE OVAL DISPLAY SHELF
L20" W10" | L50cm W25cm 

SMALL OVAL DISPLAY SHELF
L16" W8" | L40cm W20cm 

LARGE TRIANGLE DISPLAY SHELF
L17" W17" | L44cm W44cm 

SMALL TRIANGLE DISPLAY SHELF
L14" W14" | L35cm W35cm 

30" ROUND DISPLAY SHELF
Ø30" | Ø76cm 

CHOOSE ONE OF THE FOLLOWING SHAPES

24" ROUND DISPLAY SHELF
Ø24" | Ø60cm 

18" ROUND DISPLAY SHELF 
Ø18" | Ø46cm

OROR

OR

OR



2

3



CATALOG# AI044www.mogogo-buffet.com

34

5 Display Shelves  can be built in levels by repeating instructions 1-4.

Several options for Display Shelves:

YOU DID IT, WAY TO GO!



CLASSIC RANGE SIDE SHELVES
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

X1

SIDE SHELF  L29.5" W19" | L75cm W47.5cm 

OR

X2

12" | 30cm SEGMENTS

5.7" | 14cm SEGMENTS

1

X1

X2

X2

SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 



2

3



CATALOG# AI045www.mogogo-buffet.com

4

5

GREAT JOB, YOUR GOOD TO GO!



CLASSIC RANGE WIDE DISPLAY SHELF
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X2

X1 X1

X2

X2

X2

SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 

12" | 30cm SEGMENTS

12" | 30cm SUPPORT SEGMENTSWIDE DISPLAY SHELF  L80" W12" | L203cm W30.5cm

Join 2 large units with LP101-MH tops.
See Mid-hole Display Tabletop assembly instructions.



2

3



CATALOG# AI046www.mogogo-buffet.com

4

MISSION ACCOMPLISHED, WAY TO GO!



DOUBLE WARMING INDUCTION
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X1 X1

X5

X5

X1

X4

X8

DOUBLE DROP-IN TOP  L47" W29.5" | L120cm W75cm 

MEDIUM RECTANGLE TOPS  L47" W29.5" | L120cm W75cm 

SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 12" | 30cm SEGMENTS

12" | 30cm SUPPORT SEGMENT

ADJUSTABLE LEGS

X2

X2

WARMING INDUCTIONS INDUCTION RINGS

X2



3

4

2



CATALOG# AI055www.mogogo-buffet.com

Add screw caps & optional quick covers.

5

6

GREAT JOB, YOUR GOOD TO GO!



EXTENSION SHELF
ASSEMBLY INSTRUCTIONS



PARTS

X2

Please notice: shelf should be sticking out from the Extension Unit.

5.7" | 14cm SEGMENTS

X1

X2

X2

X1

SCREW CAPS 

ALLEN KEY FOR M16 

 M16 ALLEN SCREWS

EXTENSION SHELF  L47" W10" | L120cm W25cm 



ASSEMBLY

2

1



CATALOG# AI059www.mogogo-buffet.com

3

4

YOUR ALL DONE, WAY TO GO!



SPEED-RAIL
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

CATALOG# AI065www.mogogo-buffet.com

X1

SPEED-RAIL

YOU DID IT, WAY TO GO!

Speed-Rails can be placed in one or more of three assigned spots (a,b,c), 

simply by unscrewing the plugs beneath the panel.

* Extra Speed-Rails can be bought separately.

a b c



TRIPLE WARMING INDUCTION
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

1

X1

X6

X6

X2

X4

X8

TRIPLE DROP-IN TOP  L71" W29.5" | L180cm W75cm 

LARGE RECTANGLE TOPS  L71" W29.5" | L180cm W75cm

SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 12" | 30cm SEGMENTS

12" | 30cm SUPPORT SEGMENTS

ADJUSTABLE LEGS

X2

X1

X3 X3

WARMING INDUCTIONS INDUCTION RINGS



3

4

2



CATALOG# AI066www.mogogo-buffet.com

Add screw caps & optional quick covers.

5

6

JOB WELL DONE, WAY TO GO!



LONG BLACKBOARD
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

X1

LONG BLACKBOARD L47" W18" | L120cm W45cm 

1

X2

HOOKS

Hang the Long Blackboard on a signpost or on an arch.

OR



2 Hang up more blackboards to create versatile configurations.



CATALOG# AI068www.mogogo-buffet.com

BLACKBOARD DESIGN IDEAS

GREAT JOB, YOUR GOOD TO GO!

Fun quotes

Menu board

Give information

Set the mood

Get artistic

Life is short
EAT DESSERT

FIRST

menu
Ho󰉉s󰇵 󰇼󰈹e󰈀d

Ric󰈡󰉅󰇽 󰈸a󰉐󰈎󰈢li

Rosé 󰇾󰈩󰉅󰉊󰇸in󰈩

Bak󰈩󰇷 󰈼w󰇵e󰉃 󰈦󰈡t󰇽󰉃o

Len󰉃󰈎󰈘 s󰈢u󰈥

Gre󰈩󰈝 󰈼󰇽la󰇷

Tir󰈀󰈚󰈏󰈼u

Che󰈩󰈻󰇵󰇸ak󰈩

COCKTAIL 
BAR

BRUNCH BUFFET

BA󰈶󰉋󰈣Y

Show the way

all OUR

SPECIALS
SO󰈖󰈪 󰈭󰉆 T󰉀E 󰉌󰉝Y

AL󰉝󰈠󰈵󰉚N 󰈠A󰈳M󰈮󰈰

MU󰈠󰈿R󰈮󰈭󰈲 󰈣IS󰈮󰈜󰈙󰈭

CA󰉋󰈠󰉚󰈣 SA󰈴󰉝󰉌

FRESH

LOCAL

PRODUCE

Help

yourself

Laura

& Sam

and
Desser

ts

Cof���



BLACKBOARD COLLECTION
ASSEMBLY INSTRUCTIONS



PARTS

ASSEMBLY

CATALOG# AI069www.mogogo-buffet.com

X1X1X5 X1 X1 X1

BLACKBOARD COLLECTIONHOOKS

Write and draw with chalk \ chalkboard markers on the blackboards.1

Hang the desired blackboards on the arch hooks.2

FR
ES

H

C
O

C
K

T
A

IL
S

BA󰈶󰉋󰈣Y

BA󰈶󰉋󰈣Y

CO
CK

TA
IL

S

FR
ES

H

GREAT JOB, YOUR GOOD TO GO!



HEAT TABLE
ASSEMBLY INSTRUCTIONS



PARTS

X1

X1

X1

X4

X4

LARGE RECTANGLE TOPS  L71" W29.5" | L180cm W75cm 

HEAT TABLE TOP  L71" W29.5" | L180cm W75cm 

SCREW CAPS 

 M16 ALLEN SCREWS

ALLEN KEY FOR M16 

X2

ASSEMBLY

1

X4

X8

12" | 30cm SEGMENTS

ADJUSTABLE LEGS

HEAT-TABLE APPLIANCE GRILL

HEAT-TABLE APPLIANCE BOX

X1



3

2

4



CATALOG# AI070www.mogogo-buffet.com

* Optional Quick-Covers are recommended.

MISSION ACCOMPLISHED, WAY TO GO!

6

5

7


	AI010 CLASSIC S-M-L web
	AI060 Classic range shelf web
	AI067 Classic Corner Unit Web
	AI011 Curved Creative unit web
	AI012 creative extension unit web
	AI015 QUICK COVER for classic web
	AI029 QUICK COVER for creative web
	AI013 sign post web
	AI014 arch web
	AI021 Raymond Products pro cart Large web
	AI022 curved shelf web
	AI023 bar shelf web
	AI024 Breath guard web
	AI026 Casters web
	AI028 all standard units web
	AI031 Market Square Web
	AI032 double bar station Web
	AI035 PRO BAR Station web
	AI036 salad bar web
	AI037 CANOPY web
	AI038 Mid-hole display tabletop web
	AI039 Leg covers web
	AI043 Pro cooking induction web
	AI044 Display shelves web
	AI045 side shelves web
	AI046 wide display shelf web
	AI055 double warming induction web
	AI059 Extension shelf web
	AI065 speed rail A5 Web
	AI066 triple warming induction Web
	AI068 long blackboard web
	AI069 Blackboard collection A5 web
	AI070 heat table web

